H £ 0l & AF & S

Al A

FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
celr BEIIZAE A4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 30,879,530 32,830,510 1,950,980
= 11,779,200
== 3,303,000
Al 15,797,330
EFIIEAE 22l (BE/40teE - +=2) 20,762,466 26,011,200 Nb,248,734
= 11,779,200
< 736,000
Al 8,247,266
SEIIZAIE HE 19,081,500 24,197,000 /5,115,500
= 11,779,200
== 736,000
Al 6,566,300
AMNE BZot=HelAE SEAY 483,000 8,635,000 /8,152,000
= 189,000
= 44,000
Al 250,000
401 AlZHIZ SO 483,000 8,635,000 /8,152,000
= 189,000
= 44,000
Al 250,000
01 AlZH| 483,000 7,978,000 AT,495,000
OAIE S3otHelAlE SEAY
483,000,000 483,000
= 189,000
= 44,000
Al 250,000
LI F(2EH) ot=22 FHHIAY 6,163,000 4,781,000 1,382,000
= 4,227,000
Al 1,936,000
401 AIEHIZ SR OHYI 6,163,000 4,781,000 1,382,000
= 4,227,000
Al 1,936,000
01 Al&HI 5,553,000 4,371,000 1,182,000
OMBEXT(2SH) siezz Hb|
5,553,000,000& 5,553,000
= 3,808,000
Al 1,745,000
02 Zcltl 600,000 400,000 200,000
OMFEXR(EH) s4zz F|
600,000,000 600,000
= 412,000
Al 188,000
03 Al 20HHI 10,000 10,000 0




FA: Aot AIE A
ZA: SAI|ZAL 2e(BB/M0tE - +F)
celr BEIIZAE A4 EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OMEZXIF(2EHH) ot=2t2 FHH|
10,000,000 10,000
= 7,000
Al 3,000
AR (3EHH) S22 HHIAIY 6,191,000 4,790,000 1,401,000
= 4,334,000
Al 1,857,000
401 AIEHIZ SR 0HYI 6,191,000 4,790,000 1,401,000
= 4,334,000
Al 1,857,000
01 Al&HI 5,581,000 4,380,000 1,201,000
OAEXIR(3SH) B422 F
5,581,000,000& 5,581,000
= 3,907,000
Al 1,674,000
02 Zcltl 600,000 400,000 200,000
OAMEXIF(3EtH) dt=2t2 FH]
600,000,000 600,000
= 420,000
Al 180,000
03 Al 20HHI 10,000 10,000 0
OAHEXIF(3etH) ot=2t2 FH|
10,000,000 10,000
= 7,000
Al 3,000
DR (2EH) St+=22 FHIAMY 167,000 714,000 ADA7,000
= 117,000
Al 50,000
401 AIEHIZ R HYI 167,000 714,000 ADBA7,000
= 117,000
Al 50,000
01 Al=H| 165,500 710,000 AB44,500
o227 (2etH) ot=2t2 FH|
165,500,000 165,500
= 115,950
Al 49,550
03 Al = THHI 1,500 4,000 A2,500
O= X F(2etH) dt=2t2 FH]
1,500,000& 1,500
= 1,050
Al 450
Z=012 otk EXIAL 893,500 1,000,000 106,500
= 158,000
< 35,500




FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
=Hel SFII=AIE A4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 700,000
401 AIEHIX 20 893,500 1,000,000 106,500
= 158,000
= 35,500
Al 700,000
01 Al&H| 888,500 993,700 105,200
OZg=0t= otk £X 888,500,000 888,500
= 157,116
& 35,301
Al 696,083
03 A2 THYI 5,000 6,300 1,300
O0&=0t= otk X 5,000,000& 5,000
= 884
S 199
Al 3,917
HIE0tS ot== EXIAIE 849,500 600,000 249,500
= 123,000
< 26,500
Al 700,000
401 Al HIZL 2048 849,500 600,000 249,500
= 123,000
== 26,500
Al 700,000
01 Al&H| 844,500 596,220 248,280
OHIE0E ot &X 844,500,000 844,500
= 122,276
=S 26,344
Al 695,880
03 A& CHYI 5,000 3,780 1,220
OHIE0E ot &X 5,000,000 5,000
= 724
=S 156
Al 4,120
g - DE0IE ol== EXAME 478,500 1,000,000 A521,500
= 150,000
=S 32,000
Al 296,500
401 AIEHIZ SR THYI 478,500 1,000,000 /521,500
= 150,000
= 32,000
Al 296,500
01 AlZH| 475,500 993,700 /518,200




FA: Aot AIE A
M SAI| AL 2e|(BH/YOIRE - )
Celr SFIIEAIE 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0%E - DHOIS o4% X
475,500,000& 475,500
= 149,060
[ 31,799
Al 294,641
03 Al 20HHI 3,000 6,300 A3,300
0%H - DYOIS d4& X
3,000,000& 3,000
= 940
& 201
Al 1,859
AMEX 7 OtSoteE XA 396,000 350,000 46,000
= 326,000
= 70,000
401 Al&HIZ S THY] 396,000 350,000 46,000
= 36,000
= 70,000
01 Al 393,731 347,500 46,231
OMEXIT OI25I+E &X
393,731,000 393,731
= 324,132
=S 69,599
03 A2 THYI 2,269 2,500 A231
OAE X OtSot=T £X
2,269,000& 2,269
= 1,868
= 401
St=CFHDIZAHE(HE) +8 89 100,000 1,000,000 £A900,000
401 AIEHIZ R HYI 100,000 1,000,000 A900,000
01 Al&H| 100,000 993,700 A893,700
OAIEAl St=EFHPDI2H & (HE) =8 &
= 100,000,000 100,000
AFETH(SS) ot=TFHH SFE22UXE CAIE 500,000 0 500,000
& HSA
= 500,000
401 Al HIZL 201 500,000 0 500,000
= 500,000
01 A28l 498,200 0 498,200
OHHL+=TH(ST) ot+==8H SH2
clXg CAIEs HSAE
498,200,000& 498,200
= 498,200
03 AIESTHYI 1,800 0 1,800




FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
celr BEIIZAE A4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYHEZH A (SR) St==FHl SE=
2T TAIES D2 A
1,800,000& 1,800
= 1,800
88 33otHlAE SEAMY 500,000 0 500,000
= 500,000
401 Al HIZ S 0HYI 500,000 0 500,000
= 500,000
01 Al&H| 498,200 0 498,200
088 RIRHIAL SHAY
498,200,000 498,200
= 498,200
03 Al 2 CHHI 1,800 0 1,800
088 RIRHIAL SHAY
1,800,000 1,800
= 1,800
AEAl = =ot=22 HIAY 2,112,000 1,000,000 1,112,000
= 1,056,000
< 528,000
Al 528,000
401 Al HIZL 201 2,112,000 1,000,000 1,112,000
= 1,056,000
=S 528,000
Al 528,000
01 AlZ8| 1,904,400 993,700 910,700
OANFEAl =242 FHIA
1,904,400,000& 1,904,400
= 952,200
= 476,100
Al 476,100
02 2/l 200,000 0 200,000
OAMEAl =022 FHIAY
200,000,000 200,000
= 100,000
s 50,000
Al 50,000
03 Al 20HHI 7,600 6,300 1,300
OAMEAl ==ol+=22 FHIAY
7,600,000 7,600
= 3,800
< 1,900
Al 1,900
NSO X EeFA 248,000 327,000 AT79,000
= 99,200
Al 148,800




SN MBI T AR
M SAI| AL 2e|(BH/YOIRE - )
ohelr SH-EIIZAIE AHE (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
401 AlEHIL 2O 248,000 327,000 AT9,000
2 99,200
Al 148,800
01 Al&H| 248,000 327,000 A79,000
OMEBEZSHHHEIAIL HI| DA
160,000,00024 160,000
= 64,000
Al 96,000
OMEE ZSHEZE +3EI |
83,000,00024 83,000
2 35,200
Al 52,800
AV ZAIL 2 689,966 1,163,200 N473,234
SLHEAE g2 32,000 102,000 A70,000
401 AIEHIL ORI 32,000 102,000 A70,000
01 Al&H| 32,000 102,000 A70,000
OMBZLFHRIAL JISTEHEY
32,000,0008! 32,000
IIEELITAE 29 132,000 352,000 220,000
201 LEk2 | 132,000 132,000 0
2 2z 2| 132,000 132,000 0
OIEELISTAE HIIe3
132,000, 00024 132,000
Bl HEALHI (A, &8 2, 1S) 525,966 709,200 A183,234
308 XX EHHI SO 525,966 709,200 183,234
11 DI BSUHSZ AR AL 525,966 709,200 A183,234
OSRL MY (AR, A4FE II=R25)
525,966,000 525,966
EAD|ZAIL B2 991,000 651,000 340,000
DiSsteT JH| 200,000 270,000 A70,000
401 Al HIL LTI 200,000 270,000 A70,000
01 Al&H| 200,000 270,000 A70,000
Odt+E 234 100,000, 00024 100,000
odt+E AZEL 100,000, 0002 100,000
2R2BB3+HeA L2 131,000 381,000 £250,000
201 LEre | 110,000 110,000 0
2 22| 110,000 110,000 0
0ARREBs+H2IAE &HII23
110,000,000 110,000
401 Al HIL 2O 21,000 271,000 250,000
01 Al&H| 21,000 271,000 £250,000
OARAADBISI4H2IAL JI2TSS
o 21,000,0008! 21,000
AHEHE B2 018 F| 500,000 0 500,000




FA: Aot AIE A
M SAI| AL 2e|(BH/YOIRE - )
Rl SFIIEAIE 22l (CHol: &S1)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
401 Al HIZL 2018 500,000 500,000
01 Al&H| 500,000 500,000
OdEEE IHE22 0123
500,000,000 500,000
S30ot=XelAld 2l 160,000 0 160,000
401 Al HIZ S OHbI 160,000 160,000
01 AlZ2H| 160,000 160,000
OYdE MSHEZE OIMEX
100,000,000 100,000
O MSHELY FH 22+EClAL
60,000,000 60,000
WRE 2 SS(BF/4ot=E - =) 6,035,810 3,869,310 2,166,500
== 2,567,000
Al 3,468,810
ge 2 s22c 278,810 275,310 3,500
< 80,000
Al 198,810
He =2 =22 4,310 4,310 0
201 er23| 2,310 2,310
01 At2teltl 2,310 2,310
O +8ZA === 810,000 810
ooleg s3B! BE £ 7Y
1,000,000& 1,000
Ocl=x HM= 500,000 500
206 MH=HI 2,000 2,000
01 MHZHI 2,000 2,000
O==ZIAE WH=+g 2 1,000,000 1,000
ONFEALFE ASFY 1,000,000& 1,000
Hes SSAE =20 11,000 11,000
201 fer=2 3| 1,000 1,000
02 S3=gHl 1,000 1,000
Ot ANERXES 1,000,000& 1,000
401 AIEHIZ SR 0HYI 10,000 10,000
01 Al&H| 10,000 10,000
OYE=ES SSAIE(AH) HEAY
10,000,000& 10,000
OIS &= A4 2t 149,500 146,000 3,500
201 Ler=23| 31,500 28,000 3,500
01 AtR2telHl 16,000 16,000 0
Ollsd=r AN ===
16,000,000 16,000
02 s3=gHl 15,500 12,000 3,500
O+=XBI| RAES 1,000,000& 1,000




2A:

I HRE = = =)
el He 2 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=+=ZSE2HEZANE |FXEx
7,300,000& 7,300
O8AFI| wH 7,200,000& 7,200
206 M=H| 18,000 18,000
01 M=8l 18,000 18,000
olIsa=r ASAE 7Y
6,000,000 6,000
ONISA4E AS)| ZE 7Y
9,000,000& 9,000
OUISA+TAIL 26TE 7Y
3,000,000 3,000
401 AIEHIZ SR OHYI 100,000 100,000
01 Al&HI 100,000 100,000
OATZE =ZAE 2sEs
50,000,000 50,000
OZBEHX A2 =ZAIE E
50,000,000& 50,000
AEaE 55 AL HZAILXIR (HEALY) 114,000 114,000 0
=S 80,000
Al 34,000
401 AIEHIZ SR THYI 114,000 114,000 0
< 80,000
Al 34,000
01 Al&HI 114,000 114,000 0
OAHA2+E LSSAE HSAIL(HE)
114,000,000 114,000
= 80,000
Al 34,000
Ngal=ZAlZ2e] 5,757,000 3,594,000 2,163,000
=S 2,487,000
Al 3,270,000
EXNXT sHELEES HLAIL (HEAY) 550,000 850,000 300,000
== 467,000
Al 83,000
401 AIEHIZ R HYI 550,000 850,000 A300,000
< 467,000
Al 83,000
01 Al&H| 548,735 848,555 N299,820
OBXXF SHEMEES HLAIS (HE)
548,735,000 548,735
= 465,926
Al 82,809
03 AlESTHYI 1,265 1,445 A180
OZXIXF sHELSE WL AL (HE)
1,265,000& 1,265




2A:

[
B Re 2 22 (BY/MBEE
SRl NgASEAL B (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,074
Al 191
MEXS HlaoH2ae & EAI) 1,067,000 986,000 71,000
= 835,000
Al 222,000
401 AIEHIX R0 1,057,000 986,000 71,000
=S 835,000
Al 222,000
01 AlZ28| 1,064,569 984,324 70,245
OMEXIT XZALE b 2EANY
(2-2¢tH)) 1,054,569,000& 1,064,569
< 833,079
Al 221,490
03 Al 2CHYI 2,431 1,676 755
ONEXIP Tigars PEAY
(2-2EHH1) 2,431,000& 2,431
= 1,921
Al 510
S~AE N 2eteT Bl TEANS(HEAIY) 1,500,000 0 1,500,000
[ 1,185,000
Al 315,000
401 AlEHIZL SO 1,500,000 0 1,500,000
== 1,185,000
Al 315,000
01 Al&HI 1,497,450 0 1,497,450
OSB-HET X2 o PEA
& (2-2EH1) 1,497,450,000& 1,497,450
= 1,182,985
Al 314,465
03 Al 20HHI 2,550 0 2,550
OBE-HET Xga2 o PEA
& (2-2EH 1) 2,550,000 2,550
< 2,015
Al 535
HEZ SEt=X A& 2,500,000 1,700,000 800,000
401 AIEHIZ SO 2,500,000 1,700,000 800,000
01 Al&H| 2,500,000 1,700,000 800,000
OAEBY SEHi+X
2,500,000,000& 2,500,000
gE=AE EX & FA2 150,000 58,000 92,000
401 Al HIZL R 0HbI 150,000 58,000 92,000
01 Al&HI 150,000 58,000 92,000
OLgEr-AIE EX =
150,000,000 150,000




2A:

Aot AIE A

B YREE(ABATAIYA) (BA/ABAT - 23)
el LR KIE (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
MHPES (Aol ZAIEA) (BHE /Aot E - &) 4,081,254 2,950,000 1,131,24
LHEHH K= 4,081,254 2,950,000 1,131,254
MEEEH MEZ 2,581,254 1,950,000 631,254
701 J|IEtSI HSHEZ 2,581,254 1,950,000 631,254
03 BIIHEEAHN=2HES 2,581,24 1,950,000 631,24
Oua=CEg3H N2MES
2,581,254,000& 2,581,24
ot SEIH dEZ 1,500,000 1,000,000 500,000
701 JIEtS HISEEZ 1,500,000 1,000,000 500,000
03 SIILELSAHRN2NEZ 1,500,000 1,000,000 500,000
Oot=SS93|H MH=2dE3
1,500,000,000& 1,500,000




